P

ALLAX 7

Web Site: www.parallax.com
Forums: forums.parallax.com
Sales: sales@parallax.com
Technical: support@parallax.com

Office: (916) 624-8333

Fax: (916) 624-8003

Sales: (888) 512-1024

Tech Support: (888) 997-8267

Parallax Multi-Board Enclosure
Parts List

Styles

#721-32212 — Clear
#721-32214 — Opaque Red
#721-32216 — Transparent Blue
#721-32218 — Opaque Black

Description

The Parallax Multi-Board Enclosure protects your circuits
and provides an effective and robust way in which to
display it. The enclosures come in four versions: Clear
protects your circuitry and provides the highest visibility
(you can see everything). Transparent Blue still allows
you to see everything, yet gives your project that
“understated elegance” look. Opaque Red and Opaque
Black completely hide your projects, except for what you
can see through the pre-cut access ports (power switch,
power jack, and the programming connector). There are
three interchangeable end panels. See below for
information on which panel to use for the board you are
using.

Tools Required:

¢ Small Phillips screwdriver, not included

Assembly

Step 1:

(8) Acrylic sides

(4) .25” F/M aluminum standoffs
(4) 1.5” F/F aluminum standoffs
(8) #4-40 x .25” pan head screws
(4) Rubber feet

(1) #4-40 nut

Features

Available in clear, opaque red, opaque black, or
transparent blue

Designed for the Propeller™ Proto Board, Super
Carrier Board, and both the USB and Serial
versions of the Board of Education®

Laser cut 1/8” thick acrylic to protect and
“show off” your projects

Includes all required hardware for a
complete package

Pre-cut knockouts provide optional access to
features on each of the boards

Dimensions: 4.5x3.5x2.0in
(11.4 x 8.9 x 5.1 cm)

Determine which end panel your board requires, and knock out any pre-cut areas as needed. To knock out an

opening, gently press in the corner of each knock-out as indicated by the dots shown in Figure 1. You may wish to
use a small file or sandpaper to smooth out any burrs.

Knock-outs for VGA,
Keyboard and Mouse§ 0
Existing openings for \
power and programming
plugs

Existing openings for
power plug and for
Super Carrier Board

\
v N

s &

Existing openings for
power plug and for
USB Board of Education Knock-out for

Serial Board of Education
.J

Front panel for
Propeller Proto Board

Front panel for
Super Carrier Board

Front panel for

Board of Education .
Figure 1

Knock-out for Board of
Education (Serial and USB)
power and reset switches

N

Knock-out for Propeller
Proto Board power switch

il

Power Switch Panel

Copyright © Parallax Inc.

Parallax Multi-Board Enclosure (#721-32212, 4, 6, 8)

v1.1 10/27/2010 Page 1 of 2



Step 2:

Step 3:

Step 4:

Step 5:

Step 6:

Step 7:

Step 8:

Step 9:

Copyright © Parallax Inc.

Remove the protective paper from the acrylic pieces.

If you're installing a Propeller Proto Board, attach the (4) .25” long F/M standoffs through each of the four corner
mounting holes with a corresponding 1.5” long F/F standoff, as shown in Figure 2. Make them snug, but do not
over-tighten. If you're installing any of the other boards, do not install the 1.5” long F/F that is nearest the power
jack—it interferes with the power plug, and is not used.

1.5" F/F Standoff

#4-40 x .25" Pan head screw

/
-7 N
AN
// \k\
[/ e .‘\\
| ] |
\\ Pod /
L/ /
N S
~o Z-—""

—_——

1.5" FIF Standoff\

Switch access

#4-40 x .25" Pan head screw

.25" F/M Standoff

Figur

Gently push on these
corners to "punchout”

PR S ST 1Y

. N W
openings (optionai \\\\

| AN
- —
—"
= . »
/
[
il L\ Il
R \\
'~ —
Propeller Proto Board
Programming port access
Power jack access
e?2

Place the assembly face down (on the 1.5” standoffs), with the bottom of the Propeller Proto Board up.

Mount one of the large acrylic plates (there are two, and they're identical) onto the short standoffs and attach with
(4) #4-40 pan head screws. Do not tighten yet. If you're installing a Board of Education or Super Carrier Board,
be sure to install the F/M standoff on the acrylic plate with a #4-40 pan head screw, and then attach the board to

the standoff using a #4-40 nut.

Flip the assembly right-side up and
insert the four sides in their
appropriate places. Be sure to orient
the sides so that the access holes for
the board’s power plug, programming
port, and power switch are positioned
correctly; see Figure 3.

Place the remaining acrylic panel on
top of the assembly, and attach it with
the (4) remaining #4-40 pan head
screws. If you're installing a Board of
Education or Super Carrier Board, you
can use a #4-40 pan head screw and
#4-40 nut to close the hole, if you so
desire.

Tighten all (8) pan head screws.
Attach the (4) rubber feet to the

bottom, and now you can show off
your project!

e e

. Figure 3
Side
Panel
[ S e U B
( Y
N o W [ [ ] N oo T
(@] (@]
Back Top and
Panel Bottom Panels
(2 pes) Front
D Panel
O (@]
e [ [ ] s U e
S e S Sa— R
Power Switch -
Panel

Parallax Multi-Board Enclosure (#721-32212, 4, 6, 8)

L e U

v1.1 10/27/2010 Page 2 of 2



X-ON Electronics

Largest Supplier of Electrical and Electronic Components

Click to view similar products for Enclosures, Boxes & Cases category:
Click to view products by Parallax manufacturer:

Other Similar products are found below :

585-R-WH-PK M-10-PLATED 60221-01 60566-01-000 HPL-9VB BATT DOOR M18-PLTD M-21-PLATED 63310-01-000 6711GSKT
71884-29-028 LH45-100 Black 72868-510-000 CNS-0000 Black 72883-510-000 CNS-0101 Black 72906-510-000 CNS-0407 Black 73092-
510-000 CNM-0101 Black 73105-510-000 CNL-0101 Black 73108-510-000 CNL-0303 Black 73395-510-039 CNS-0006 Bone 74257-510-000
CNL-0004 MDC-1183-PLAIN-ALUM MDC-1183-PTD MDC-13104-PTD MDC-321-PTD MDC-973-PTD 76 77153-01-028 FL X6030
83535-01-508 90026-501-000 PS36-200 116-508 120-407 120-910 12/-908 130-008 1301170079 1322GSKTEP 1325GSKT3 1434-1210
EAS-500 (BLACK ANO) 1804RP-RB-PK 190-005 2202307 KAB3321 BLACK KAB3421 2697466 S52213 2901123 2901699 A0645271
A20P20 2106-IR PERF-850-PLN



https://www.x-on.com.au/category/enclosures/enclosures-boxes-cases
https://www.x-on.com.au/manufacturer/parallax
https://www.x-on.com.au/mpn/budindustries/585rwhpk
https://www.x-on.com.au/mpn/lmbheeger/m10plated
https://www.x-on.com.au/mpn/pactec/6022101
https://www.x-on.com.au/mpn/pactec/6056601000hpl9vbbattdoor
https://www.x-on.com.au/mpn/lmbheeger/m18pltd
https://www.x-on.com.au/mpn/lmbheeger/m21plated
https://www.x-on.com.au/mpn/pactec/6331001000
https://www.x-on.com.au/mpn/budindustries/6711gskt
https://www.x-on.com.au/mpn/pactec/7188429028lh45100black
https://www.x-on.com.au/mpn/pactec/72868510000cns0000black
https://www.x-on.com.au/mpn/pactec/72883510000cns0101black
https://www.x-on.com.au/mpn/pactec/72906510000cns0407black
https://www.x-on.com.au/mpn/pactec/73092510000cnm0101black
https://www.x-on.com.au/mpn/pactec/73092510000cnm0101black
https://www.x-on.com.au/mpn/pactec/73105510000cnl0101black
https://www.x-on.com.au/mpn/pactec/73108510000cnl0303black
https://www.x-on.com.au/mpn/pactec/73395510039cns0006bone
https://www.x-on.com.au/mpn/pactec/74257510000cnl0004
https://www.x-on.com.au/mpn/pactec/74257510000cnl0004
https://www.x-on.com.au/mpn/lmbheeger/mdc1183plainalum
https://www.x-on.com.au/mpn/lmbheeger/mdc1183ptd
https://www.x-on.com.au/mpn/lmbheeger/mdc13104ptd
https://www.x-on.com.au/mpn/lmbheeger/mdc321ptd
https://www.x-on.com.au/mpn/lmbheeger/mdc973ptd
https://www.x-on.com.au/mpn/serpac/76
https://www.x-on.com.au/mpn/pactec/7715301028flx6030
https://www.x-on.com.au/mpn/pactec/8353501508
https://www.x-on.com.au/mpn/pactec/90026501000
https://www.x-on.com.au/mpn/pactec/ps36200
https://www.x-on.com.au/mpn/altech/116508
https://www.x-on.com.au/mpn/altech/120407
https://www.x-on.com.au/mpn/white-rodgers/120910
https://www.x-on.com.au/mpn/altech/127908
https://www.x-on.com.au/mpn/altech/130008
https://www.x-on.com.au/mpn/molex/1301170079
https://www.x-on.com.au/mpn/budindustries/1322gsktep
https://www.x-on.com.au/mpn/budindustries/1325gskt3
https://www.x-on.com.au/mpn/hammond/14341210
https://www.x-on.com.au/mpn/lmbheeger/eas500blackano
https://www.x-on.com.au/mpn/budindustries/1804rprbpk
https://www.x-on.com.au/mpn/altech/190005
https://www.x-on.com.au/mpn/phoenixcontact/2202307
https://www.x-on.com.au/mpn/lmbheeger/kab3321black
https://www.x-on.com.au/mpn/lmbheeger/kab3421
https://www.x-on.com.au/mpn/phoenixcontact/2697466
https://www.x-on.com.au/mpn/molex/s52213
https://www.x-on.com.au/mpn/phoenixcontact/2901123
https://www.x-on.com.au/mpn/phoenixcontact/2901699
https://www.x-on.com.au/mpn/belden/a0645271
https://www.x-on.com.au/mpn/nvent/a20p20
https://www.x-on.com.au/mpn/serpac/2106ir
https://www.x-on.com.au/mpn/lmbheeger/perf850pln

